B4 2=(x+1P +alx+1)2+b(x+1)+c 7t FEAL

a+b+c o = ot

@ 0 @ 1 ® 2 ® 3 © 4

=



33 =bx+2=a(x-12+b(x-1)2+c(x-1
FSALd W, a+b+c+d] FH2?

@® -16 @ 16 ® 20 @ 23



3. 16x* - 625y 2 2 AFEHT A9

x + 5y)(2x — 5y) (4x? + 25y?)

(
2x + ) (2x — 5y) (4x? + 25y?)

D (
@ (
® (2x+ 5y)(2x — 5y)(4x? + 25y?)
@ (x+ 5y)(x— 5y)(4x% + 25y?)
® (

2x + 5y)(x — y)(4x* + 25y?)



4. T F 40— 11 - 0r 4 189 A157} ok AL

D x-1 @ x+1 ® x-3 @ x+3 ® x+2



6 4 2
—x"+x" -1 .
5. =1001¢¥ [[H X X o] 7ZF & —o:]g'..
X 001 & I R = ot

5
=%



6. a=(1+i) &P AT B SH HAG 4G5 a o F 1
we) a o] 7kl g ot

D
=%



B=1-2i 4 W aa+ap+aB+p8 2 72?

27 o, p O] AEB 2501, i = V7T o|tt)

@ 2 ® 4 @ 10 ® 20






y = =22 +8r+k O HAglo] 2 A v, k o] g stole



10. AHCRTH 2% 20m 2 2ot 23 =49+ 2 F9] £°]E hm
2L SR, b = 20r - 5% Q1 BAA o] At =H77HE =ol
Set7ke o A AR dmfe] golg Fetoiet

Be x
Be n



11. BS54 (a-b)x+ (b-2a) > 09 37} x > g

o H
2 o, #54

ax® + (a+ 2b)x + (a + 3b) < 0] s}E 57

@ 3<x<T7 @ -3<x<1 @ x<2 x>3

@ -1<x<?2 ® x<-2, x>4



12, xof Uizt o] AR5 g(2x2 4+ 1) < (x—1)2 9] &7} QI 2 5H= A4

a®] o) AL

3
D 0<a<-=
“ 2

| =
A
A
w
DN LN | W



13, OPPPAA 2 - dr+ k= 09] 5 Aol B 31T A] S5 A%
kel HYE FotH m < k < noltt. mn 2] 3 F-5HH?

® 10 @ 12 ® -15 @ -12 ® -10



14.

AL ab,col st a+b+c=6,a? +b%>+ % =125 TH=E
a® +b* +c* 9] e 7ot

@ 8 @ 16 @ 24 @ 36 ® 42



15.

x+y=2 P4y =1L o, & F 24
D xy=-1

&2

rlo

A

L9

® 2ay—o
D x+y° =86

® x'4yt=34
@ x6+y6:198



240 _ 935 _ 95 1 1 -
16. o A& Fofelet




17.

x O] oJZAPF G ¥ - 3px +4g -2 =09 F AL HIIF 1 27
S5 St A p, ol Histe] g of el "AE=? (F p#0)

® gz

W NN =
N |~



X2 + 2kx + 6k =

gt ol 2pur Al

xof of

18.

7 (

O
—

W’ + @ = 16°lth AP k] g

® 2 @ 3 ® 4

@1



19.

D -1<k<1

@ -1<k<0

X
ko 2027
@ -1<k<1
® -1<k<1

® 0<k<?2



)

WAl 42 4 2y2 4 2xy—4dx— 10y + 13 =0 &

29

x+y 9 gk

&

9

@1 @ 2 ® 3

@ 0



x4+ 7 <2x-2

21. ﬁ%%%ﬂ{ ﬂﬂﬂxﬁ%%umgﬂﬁ%

2ax —2b > bx + 4a
ot

® 3 @% ® 2 @ L ® 5



22, > +x-1=0¢< ", x°-5x ¢ g F5HA?

@ 2 @1 ® 0 @ -1 ® -3



. A\ 3
i(x+i)Po] dpd wf, A x o] gho= 4] 42 Ae

23.

@ 1

@ V3 ® -V3

@ o



24. f(x) = (

1-x
1+x

)QS?ZJHH’f<

141

)+

1-i

T



1
25. AMZ O9E A B4 q, b, c7}a+b+c:0,;+—+5:0

ot

—

BN

v

1 1

o

b
o, 9+? o] 22 Fatolet. (g 31 o] AeE Ageolt})

Ct
=R



